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7 100kN/mM%E#BZ5 | 1.00 | 000 ~ 254 139.93 |3m%EiBZ D - ~ — — — | 100kN/miZ#8z25 | 1.00 | 1099 ~ 2724 139.93 |3mZE#BZ5 - ~ — — —
s 1.00 | 264 ~ 1033 100.00 | 0S| 0.00 ~ 1033 2.86 14.45 zhLst 1.00 | 5.00 ~ 10.99 100.00 | =nhLst | 6,00 ~ 2724| 2.86 14.45
2 100kN/m%E#BZ5| 100|000 ~ 1.28| 119.43 |3mEHBZS - ~ — — —| 100kN/mMi%E#Z25 | 1.00 | 1070 ~ 1520 119.43 |3mZE#ZS - ~ — — —
s 1.00 | 1.28 ~ 9.07 100.00 | 0S| 0.00 ~ 9.07| 228 11.53 Zh st 1.00 | 5.00 ~ 1070 100.00 | =nhst | 6,00 ~ 1520| 2.28 11.53
3 100kN/m%E#8z5 | 1.00 | 000 ~ 237| 13701 |3mE#Bz% - ~ — — —| 100kN/mMi%E#Z25 | 1.00 | 1066 ~ 2182 137.01 |3mZE#ZS - ~ — — —
s 1.00 | 287 ~ 1016 100.00 | #nLsy | 0.00 ~ 1016 2.62 13.22 zhLst 1.00 | 6.00 ~ 10.66 100.00 | =nhst | 6.00 ~ 21.82| 2.62 13.22
4 100kN/m%E#BZ5 | 1.00| 000 ~ 290 14593 |3mEHBZD - ~ — — — | 100kN/miZ#825 | 1.00 | 1097 ~ 3600| 14593 |3mE#BZ5 - ~ — — —
s 1.00 | 290 ~ 1068 100.00 | NS | 0.00 ~ 1068| 2.97 14.99 Zh st 1.00 | 6.00 ~ 1097 100.00 | =nhbst | 6,00 ~ 3600|297 14.99
5 100kN/m%E#BZ5| 100|000 ~ 278 14393 |3mEHBZD - ~ — — — | 100kN/miZ#8z25 | 1.00 | 11.00 ~ 3282| 14393 |3mZEBZ5 - ~ — — —
s 1.00 | 278 ~ 1057 100.00 | 0S| 0.00 ~ 1057 2.96 14.95 Zh st 1.00 | 5.00 ~ 1100 100.00 | =nst | 6,00 ~ 3282| 2.96 14.95
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ zhust ~ zhst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




